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1. The behavioural changes that occur due to this is not 

considered as learning  
 1. Training  
 2. Experience 
 3. Maturation  
 4. Reinforced practice 
 e«¿ìïýË B� e\q @sÁÎ&�q ç|�esÁïH� eÖsÁTÎ\qT nuó�«d�q+>±  

|�]>·Dì+#áeTT 

 1. ¥¿£�D 

 2. nqTuó�e+ 

 3. |�]|�¿£ÇÔá 

 4. |�ÚqsÁÒÛ\q+ #î+~q �#ásÁD 

 

2. Teaching Machines were developed based on this learning 
theory  

 1. Insightful learning  
 2. Instrumental conditioning  
 3. Classical conditioning  
 4. Observational learning  
 uË<ó�H�jáT+çÔ�\T � d¾<�Æ+Ôá+ �<ó�sÁ+>± ÔájáÖsÁT #ûjáT�&�¦sTT 

 1. n+ÔásY<��w¾¼ nuó�«d�q+ 

 2. |�]¿£s�Ôá�¿£ ��+<ó�q+ 

 3. XæçdÓïjáT ��+<ó�q+ 

 4. |�]o\H�Ôá�¿£ nuó�«d�q+ 

 



3. Secretion of Saliva to the Bell sound is a  
 1. Unconditioned Response 
 2. Conditioned Response 
 3. Unconditioned Stimulus 
 4. Conditioned Stimulus  
 >·+³ Xøu²Ý�¿ì ý²ý²È\+ çd�$+#á&�+ nHû~ 

 1. �]��+~óÔá ç|�Üd�Î+<�q 

 2. ��+~óÔá ç|�Üd�Î+<�q 

 3. �]��+~óÔá �BÝ|�q 

 4. ��+~óÔá �BÝ|�q 

 

4. Characteristic of a Plateau stage  
 1. Rapid progress in learning  
 2. Slow progress in learning  
 3. Fluctuations in learning  
 4. No progress in learning  
 |ÓsÄÁuó�Ö$T<�Xø \¿£�D+ 

 1. nuó�«d�q+ýË |�ÚsÃ>·Ü yû>·+>± �+³T+~. 

 2. nuó�«d�q+ýË |�ÚsÃ>·Ü HîeT�~>± �+³T+~. 

 3. nuó�«d�q+ýË �V²#áTÌÔá>·TZ\T �+{²sTT. 

 4. nuó�«d�q+ýË |�ÚsÃ>·Ü �+&�<�T. 

  



5. Which of the following is not a primary mental ability 
proposed by ‘Thurston’. 

 1. Verbal ability 
 2. Special relationships 
 3. Word fluency 
 4. Mechanical ability 

 »<̧�sYd�¼H�µ ç|�ÜbÍ~+ºq çbÍ<̧�$T¿£ eÖqd¾¿£ kÍeTsÁÆ«+ ¿±�~ 

 1. Xæ_Ý¿£ kÍeTsÁÆ«+ 

 2. çbÍ<û¥¿£ d�+�+<ó�\T 

 3. |�<�<ó�s�ÞøÔá 

 4. jáÖ+çÜ¿£ kÍeTsÁÆ«+ 

 

6. Minimum number of working hours per week for a teacher 
including preparational hours according to RTE-Act 2009 

 1. 36 hours 
 2. 45 hours 
 3. 30 hours 
 4. 40 hours 
 RTE #á³¼+ ` 2009 ç|�¿±sÁ+ d�H��V�²¿£ >·+³\ÔÃ ¿£*|¾  

�bÍ<ó�«jáTT�¿ì y�s��¿ì ¿£úd� |��>·+³\T 

 1. 36 >·+³\T 

 2. 45 >·+³\T 

 3. 30 >·+³\T 

 4. 40 >·+³\T 

  



7. Karthik is asking his mother “If i will complete my homework 
will you allow me to watch TV”. As per Kohlberg, Karthik is 
at this moral stage 

 1. Social contract orientation 
 2. Obedience and punishment orientation 
 3. Good boy – Good girl orientation 
 4. Self-interest orientation 
 ¿± ï̄¿ù »»HûqT H� V�²Ãy�TesYØ |�P]ï #û�dï qqT� {ì.$ #áÖ&��kÍïs�µµ  

n� Ôáq Ôá*¢� n&�T>·TÔáTH��&�T. ¿ÃýÙ�sYZ ç|�¿±sÁ+ ¿± ï̄¿ù jîTT¿£Ø  

HîÕÜ¿£ $¿±d� <�Xø 

 1. kÍeÖ�¿£+>± �yîÖ~+#á�&�q #á³¼úÜ 

 2. $<óûjáTÔá ` ¥¿£� Hû|�<̧�«úÜ 

 3. eT+º u²\T&�T ` eT+º u²*¿£ Hû|�<̧�«úÜ 

 4. d�V�²È d�+ÔÃw� ` d�V�²¿±sÁ d�+ÔÃw� Hû|�<�̧«úÜ 

 
8. Incomplete tasks are remembered longer than completed ones. 

This is called 
 1. Zeigarnic effect 
 2. Pygmalion effect 
 3. Halo effect 
 4. Interference effect 
 |�P]ï #ûd¾q |�qT\ ¿£H�� eT<ó�«ýË ��|d¾q |�qT\T mÅ£�Øe ¿±\+  

>·TsÁTï+&�{²�� �ý² n+{²sÁT. 

 1. CÉÕ>±]�¿ù ç|�uó²e+ 

 2. |¾¹>�*jáTH� ç|�uó²e+ 

 3. |�]yûXø ç|�uó²e+ 

 4. CË¿£« ç|�uó²e+ 

 

 

 



9. The highest level objective of cognitive Domain 
 1. Comprehension 
 2. Analysis 
 3. Application 
 4. Evaluation 
 C²ãH�Ôá�¿£ sÁ+>±�¿ì d�+�+~ó+º �q�Ôá kÍÆsTT \¿£�«+ 

 1. ne>±V�²q 

 2. $Xâ¢w�D 

 3. $�jîÖ>·+ 

 4. eTÖý²«+¿£q+ 

 
10. Best research method for studying the attitudes of teachers on 

in-service training programmes 
 1. Action research 
 2. Historical research 
 3. Descriptive research 
 4. Correlation research 
 e�Ôá«+ÔásÁ ¥¿£�D\ MT<� �bÍ<ó�«jáTT\ yîÕK]� n<ó�«jáTq+ #ûjáT&��¿ì

nqTyîÕq |�]XË<ó�H� |�<�ÆÜ 

 1. #ás�«Ôá�¿£ |�]XË<ó�q 

 2. #�]çÔá¿£ |�]XË<ó�q 

 3. esÁ�H�Ôá�¿£ |�]XË<ó�q 

 4. d�V�²d�+�+<ó� |�]XË<ó�q 

 
  



11. Teaching aptitude test is meant to assess this aptitude 
 1. Scholastic 
 2. Logical 
 3. Aesthetic  
 4. Vocational 
 {¡º+>´ �|¾¼³Ö«&� fÉdt¼ � d�V�²È kÍeTs�Æ«�� n+#áH�yûjáT&��¿ì  

�<ûÝ¥+#á�&�+~. 

 1. $<�«d�+�+<ó� 

 2. Ô�]Ø¿£ d�+�+<ó� 

 3. kå+<�sÁ«, ¿£Þ² d�+�+<ó� 

 4. e�Üïd�+�+<ó� 

 

12. Skinner and Pavlov’s experiments are related to this type of 
observation. 

 1. Natural observation 
 2. Controlled observation 
 3. Keen observation 
 4. Participant observation 
 d¾Øq�sY eT]jáTT bÍy�ýËy� ç|�jîÖ>±\T � sÁ¿£yîT®q |�]o\qÅ£�  

d�+�+~ó+ºq~ 

 1. d�V�²È |�]o\q 

 2. �jáT+çÜÔá |�]o\q 

 3. �¥Ôá |�]o\q 

 4. d�+#á]Ôá |�]o\q 

 
  



13. Subject information in an Integrated project is  
 1. Limited to the class 
 2. Related to school 
 3. Related to many subjects 
 4. Limited to one subject 
 d�MT¿£�Ôá ç|�¿£\ÎqýË $w�jáT d�eÖ#�sÁ+ 

 1. ÔásÁ>·Ü¿ì |�]$TÔáyîT® �+³T+~. 

 2. bÍsÄÁXæ\Å£� d�+�+~ó+º �+³T+~. 

 3. nHû¿£ $w�jáÖ\Å£� d�+�+~ó+º �+³T+~. 

 4. ÿ¹¿ $w�jáÖ�¿ì |�]$TÔáyîT® �+³T+~. 

 
14. First milk teeth appears at this stage 
 1. Infancy 
 2. Early childhood 
 3. Adolescent age 
 4. Late childhood 
 yîTT<�{ì bÍ\|�qT� @sÁÎ&û <�Xø 

 1. XèÕXøe<�Xø 

 2. |�PsÁÇu²\«<�Xø 

 3. ¿�eÖsÁ<�Xø 

 4. �ÔáïsÁu²\«<�Xø 

 

  



15. Sequential order of steps involved in observational learning  

 1. Performance ® Attention ® Retention ® 
Reinforcement 

 2. Performance ® Reinforcement ® Attention ® 
Retention  

 3. Retention ® Attention ® Reinforcement ® 
Performance 

 4. Attention ® Retention ® Performance ® 
Reinforcement 

 |�]o\H�uó²«d�q+ýË� <�Xø\ esÁTd�ç¿£eT+ 

 1. |�ÚqsÁTÔ�Î<�q ® ne<ó�q+ ® <ó�sÁD ® |�ÚqsÁÒ\q+ 

 2. |�ÚqsÁTÔ�Î<�q ® |�ÚqsÁÒ\q+ ® ne<ó�q+ ® <ó�sÁD 

 3. <ó�sÁD ® ne<ó�q+ ® |�ÚqsÁÒ\q+ ® |�ÚqsÁTÔ�Î<�q 

 4. ne<ó�q+ ® <ó�sÁD ® |�ÚqsÁTÔ�Î<�q ® |�ÚqsÁÒ\q+ 

  

16. Some times past information facilitates our learning of new 
information. This phenomenon is called 

 1. Transfer effect 
 2. Pro-active inhibition  
 3. Retroactive inhibition 
 4. Zeigarnic effect 

 ¿=��kÍsÁT¢ >·Ôá d�eÖ#�sÁ+ ¿=Ôáï d�eÖ#�s��� HûsÁTÌ¿Ãe&���  

d�T\uó�ÔásÁ+ #ûd�Tï+~. � <��ÐÇw�jáÖ�� �ý² �|s=Ø+{²sÁT. 

 1. �~© ç|�uó²e+ 

 2. |�ÚsÃ>·eTq nesÃ<ó�+ 

 3. ÜsÃ>·eTq nesÃ<ó�+ 

 4. CÉÕ>±]�¿ù ç|�uó²e+ 

 

 



17. Changes over time in the way we make relationship with 
others indicates our 

 1. Moral Development  
 2. Social Development 
 3. Physical Development 
 4. Language Development 

 ¿±\ç¿£eT+>± eTq+ �ÔásÁT\ÔÃ d�+�+<ó�\T @sÁÎsÁ#áT¿=Hû $<ó�q+ýË

eÖsÁTÎ\T B�� d�ÖºkÍïsTT. 

 1. HîÕÜ¿£ $¿±d�+ 

 2. kÍ+|�¾T¿£ $¿±d�+ 

 3. Xæ¯sÁ¿£ $¿±d�+ 

 4. uó²cÍ $¿±d�+ 

 
18. It is just like a postal service offered to us by computer 
 1. Search Engine 
 2. E-mail 
 3. Chatting 
 4. E-commerce 
 �~ ¿£+|�P«³sY eTqÅ£� n+~+#û ÔábÍý² d�̄ Çdt e+{ì~. 

 1. �dsYÌ �+ÈH� 

 2. �`yîTsTTýÙ 

 3. #�{ì+>́ 

 4. �`¿±eTsYà 

 

 
 
 
 
 



19. Asking questions and giving explanations takes place at this 
teaching phase 

 1. Interactive phase 
 2. Post active phase 
 3. Student active phase 
 4. Pre active phase 

 ç|�Xø�\T n&�>·&�+, $esÁD\T �eÇ&�+ nHû$ � uË<ó�H� <�XøýË  

ÈsÁT>·TÔ�sTT. 

 1. |�sÁd�ÎsÁ #ás�«Ôá�¿£<�Xø 

 2. �ÔáïsÁ #ás�«Ôá�¿£<�Xø 

 3. $<�«]Æ #ás�«Ôá�¿£<�Xø 

 4. |�PsÁÇ #ás�«Ôá�¿£<�Xø 

 
20. In Non Directive Counselling  
 1. Counseller is active 
 2. Importance is given to problem 
 3. Both Counseller and Counsellee are passive 
 4. Counsellee will take decision 
 n�¹sÆ¥Ôá eT+çÔáD+ýË 

 1. eT+çÔáDÅ£�&�T ç¿ìjáÖÔá�¿£+>± �+{²&�T 

 2. d�eTd�«Å£� çbÍ<ó�q«ÔáqT �kÍïsÁT 

 3. eT+çÔáDÅ£�&�T, d�V�äjáÖ]� �sÁTeÚsÁÖ �çw¾ØjáÖÔá�¿£+>± 

�+{²sÁT. 

 4. d�V�äjáÖ]� �sÁ�jáT+ rd�TÅ£�+{²&�T. 

 

 

 

 



21. Over 85% of a child’s cumulative brain development occurs 
prior to the age of  

 1. 18 years 
 2. 6 years 
 3. 10 years 
 4. 12 years 

 |¾\¢\ýË 85% ¿£+fñ mÅ£�Øe yîT<�&�T n_óe�~Æ � ejáTd�Tà ¿£+fñ  

eTT+<û ÈsÁT>·TÔáT+~. 

 1. 18 d�+öö\T 

 2. 6 d�+öö\T 

 3. 10 d�+öö\T 

 4. 12 d�+öö\T 

 
22. Expand MOOC 
 1. Mobile Online Open Courses 
 2. Massive Open Online Courses 
 3. Modern Online Open Classes 
 4. Macro Open Online Classes 
 MOOC � $d�ï]+#á+&�. 

 1. yîTTuÉÕýÙ �H�ýÉÕH� z�|H� ¿ÃÂsàdt 

 2. eÖd¾ày� z�|H� �H�ýÉÕH� ¿ÃÂsàdt 

 3. eÖ&�sÁH� �H�ýÉÕH� z�|H� ¿±¢�ddt 

 4. eÖç¿Ã z�|H� �H�ýÉÕH� ¿±¢�ddt 

 
  



23. The assessment which provides feedback to students and 
teachers 

 1. Assessment of learning 
 2. Assessment as learning  
 3. Assessment by learning  
 4. Assessment for learning  

 $<�«sÁTÆ\Å£�, �bÍ<ó�«jáTT\Å£� |�Ó&�u²«¿ù n+~+#û eTÖý²«+¿£q+ 

 1. nuó�«d�q+ jîTT¿£Ø eTÖý²«+¿£q+ 

 2. nuó�«d�q+ È]¹>³|�Ú&�T eTÖý²«+¿£q+ 

 3. nuó�«d�q+ e\q eTÖý²«+¿£q+ 

 4. nuó�«d�q+ ¿=sÁÅ£� eTÖý²«+¿£q+ 

  
24. The cognitive process in which the child changes the 

environment according to his convenience. 
 1. Equilibrium 
 2. Organisation 
 3. Assimilation 
 4. Accommodation 
 |¾\¢y�&�T |�]d�s�\qT ÔáqÅ£� nqT>·TD+>± eT\#áTÅ£�Hû d�+C²ãH�Ôá�¿£

ç|�ç¿ìjáT 

 1. d�eTÔáT\«Ôá 

 2. e«edÓ�¿£sÁD 

 3. kÍ+o¿£sÁD 

 4. nqT>·TD«+ 

  
  



25. In all children language development starts with uttering of 
Sounds and gradually turns in to sentences. Developmental 
principle involved here is 

 1. Principle of continuity  
 2. Development is a product of interaction 
 3. Principle of uniformity of pattern 
 4. Development follows a definite direction 
 |¾\¢\+<�]ýË uó²cÍ_óe�~Æ nHû~ Xøu²Ý\ÔÃ yîTT<�ýÉÕ ç¿£eT+>±  

y�¿±«\ýË¿ì eÖsÁTÔáT+~. �¿£Ø&� �$T&� �q� $¿±d� d�ÖçÔá+ 

 1. $¿±d�+ n$ºÌÛq�+>± kÍ>·TÔáT+~. 

 2. $¿±d�+ ÿ¿£ |�sÁd�ÎsÁ #ásÁ« 

 3. $¿±d�+ ÿ¿£ KºÌÔáyîT®q qeTÖH�qT ne\+_d�Tï+~. 

 4. $¿±d�+ ÿ¿£ KºÌÔáyîT®q ~Xø>± kÍ>·TÔáT+~. 

  
26. Ravi has taken 15 trails to learn the poem. After a month he 

has taken only 3 trails to relearn it. His saving score is  
 sÁ$ ÿ¿£ |�<�«+ HûsÁTÌ¿Ãe&��¿ì 15 ç|�jáTÔ��\T rd�TÅ£�H��&�T.  

ÿ¿£ Hî\ Ôás�ÇÔá <��� Ü]Ð HûsÁTÌ¿Ãe&��¿ì 3 ç|�jáTÔ��\T  

eÖçÔáyûT rd�TÅ£�H��&�T. nÔá� bõ<�T|�Ú >·Dq 

 1. 85% 
 2. 70% 
 3. 60% 
 4. 80% 
  

 

 

 

 

 



27. Fluency, Flexibility, Originality are the elements of this aspect 
 1. Attitude 
 2. Aptitude 
 3. Intelligence 
 4. Creativity 
 <ó�s�ÞøÔá, qeT«Ôá, y�d�ï$¿£Ôá nHû$ � n+Xæ�¿ì #î+~q eTÖ\¿±\T 

 1. yîÕK] 

 2. d�V�²ÈkÍeTsÁÆ«+ 

 3. ç|�Èã 

 4. d��ÈH�Ôá�¿£Ôá 

 

28. Correct method to delete a Text in MS word 
 1. Placing a cursor at the beginning of the text then Back 

space  
 2. Select the text then press control and C 
 3. Placing the cursor at the beginning of the text then 

Delete 
 4. Select the text then press control and V 
 MS word ýË fÉ¿ù¼àqT &�©{Ù #û�d+<�TÅ£� d�ÂsÕq |�<�ÆÜ 

 1. ¿£sÁàsY fÉ¿ù¼à yîTT<�{Ë¢ �+º u²«¿ù�dÎdt H=¿±Ø*. 

 2. fÉ¿ù¼àqT �dýÉ¿ù¼ #ûd¾ ¿£+ç{ËýÙ  C � H=¿±Ø*. 

 3. ¿£sÁàsY fÉ¿ù¼à yîTT<�{Ë¢ �+º &�©{Ù H=¿±Ø*. 

 4. fÉ¿ù¼àqT �dýÉ¿ù¼ #ûd¾ ¿£+ç{ËýÙ  V � H=¿±Ø*. 

 
  



29. Learning is very rapid at this stage 
 1. Plateau Stage 
 2. Secondary Spurt 
 3. Physiological limit 
 4. Initial Spurt 
 � <�XøýË nuó�«d�q+ #�ý² yû>·+>± ÈsÁT>·TÔáT+~. 

 1. |ÓsÄÁuó�Ö$T <�Xø 

 2. ~ÇrjáT d�ÖÎ]ï 

 3. Xæ¯sÁ¿£ <ó�sÁ�V�²<�TÝ 

 4. çbÍsÁ+uó�d�ÖÎ]ï 

 

30. The Book “Educational Determinism” is written by  
 1. W.C. Bagley 
 2. J.B. Watson 
 3. B.F. Skinner 
 4. E.L. Thorndike 
 “Educational Determinism” nHû |�Úd�ï¿±�� s�d¾q y�sÁT 

 1. W.C. u²¹>¢ 

 2. J.B. y�³àH� 

 3. B.F. d¾Øq�sY 

 4. E.L. <̧�sÁ�&îÕ¿ù 

 

  



 
 

31. |�Úw�ÎÐ] ÜeT�¿£$ »d�MTsÁÅ£�eÖsÁ $ÈjáTeTTµ nHî&� 7 �XæÇd�eTT\  

¿±e«eTTqT sÁºsTT+º, uó�sÁï�V�²] úÜ XøÔá¿£eTT Ôî�"Ð+#îqT. �Ôá&�TÔáïsÁ  

s�eÖjáTDeTTqT sÁº+ºq ¿£+¿£+{ì bÍ|�s�EÔÃ d�eT¿±*Å£�&�T. �jáTq 

d�+d�Ø�Ô�+ç<ó�eTT\jáT+<�T d�eÖq bÍ+&�Ôá«eTT ¿£\y�&û nsTTH� ¿£eqeTT

q+<�¿£Ø&�¿£Ø&� \¿£�D $sÁT<�ÆeTT\sTTq ç|�jîÖ>·eTT\T ¿±q"�&�T#áTq�$ 

 Âs+&�T uó²w�\ýË çbÍMD«+ �H�� \¿£�D $sÁT<�Æ ç|�jîÖ>±\T #ûd¾qy�&�T. 

 1. n�sÁT<�TÆ&�T 

 2. ¿£+¿£+{ì bÍ|�s�E 

 3. |�Úw�ÎÐ] ÜeT�¿£$ 

 4. uó�sÁï�V�²] 

 

32. ¿=+<�ÂsÕÔû eÖ³\ eTÖ³\ÔÃ >Ã\ #ûd¾, >ÃÔáT\T r�d+<�TÅ£�  

nHûÇw¾d�Tï+{²sÁT. n+fñ yîÖd�+ #ûjáT&�+ y�]¿ì yîq�ÔÃ �|{ì¼q  

$<�«. d��w¾¼¿£sÁï nsTTq uó�>·e+ÔáT&�T Å£�eT�] Å£�+&�\T #ûd¾q³T¢>±  

HÃsÁT nHû ÿ¿£ �|<�Ý bÍçÔáqT ÔájáÖsÁT #ûd¾ <��¿ì eTÖÔáqT  

yûjáT&�+ eTsÁºbþjáÖ&�T. n+<�Te\¢Hû nd�\T #û³T eºÌ+~. 

 �|Õ >·<�«+ýË »yîq�ÔÃ �|{ì¼q $<�«µ nHû~ 

 1. kÍyîTÔá 

 2. C²rjáT+ 

 3. ç|��V²[¿£ 

 4. Xø�Ý|�\¢e+ 

 

  



33. Èq� ÈqÅ£�"&�T d�<�TZsÁT"&�q\T"&�ÔáT�" 

&�q">· �jûT«eÚsÁTqT Hû >·�V�²d�T� #ûÔá 

d�T>·Ü y�+#óá "ç�kÍ~ÔáT\>·T<�TsÁ{ì¼ 

y�"&� d�Öyî <ó�s��ÔáT�+&�T ed�T<ó� MT"<� 

 �|Õ |�<�«+ �<ó�sÁ+>± |�ÚD«+ ¿Ã¹s >·�V�²d�T�&�T �+<�]�  

d�+ÔÃw¾+|� #ûjáÖ*. 

 1. @&�T>·T]� 

 2. ×<�T>·T]� 

 3. q\T>·T]� 

 4. m�$T~ eT+~� 

 

34. Ôá*¢ ç�|>·T d�TyîÇ <ó�sÁDì ¿£+fÉqT H�¿£ 

d�+�T ¿£+fÉ" ;&�eÚ ÈqÅ£�"&�sÁjáT 

>±&�TÎ ¿£+fÉ eTqd�T¿£&�T oç|��T>·Ü Ôá�DÃ 

ÔásÁØeTT ¿£+fÉ " �+Ôá >·sÁeTT Ôái#áT 

 � |�<�«+ýË eTqd�T B� ¿£H�� oç|��T+>± yîÞø�ï+<�� #îbÍÎsÁT 

 1. |�Úw�Î¿£ $eÖq+ 

 2. y�jáTTeÚ 

 3. nXøÇ+ 

 4. >·sÁT&�|�¿ì� 

 

  



35. ¿ì+~ y��ýË Å£�d�TeT <ó�sÁ�q� >±] >·T]+º d�ÂsÕq$ 

 n. #á<�TeÚÅ£�Hû sÃEýË¢Hû d�+|��Td�+d�ØsÁD n_óý²w� ¿£*Ð  

 M¹sXø*+>·+ #ûÔá ç|�uó²$Ôá+ njáÖ«sÁT. 

 �. n+³s�� ed�+Ôá+, q>·C² XøÔá¿£+ e+{ì sÁ#áq\T #ûXæsÁT. 

 �. n+³s��ÔáH��� �sÁÖ�*+#�\Hû \¿£�«+ÔÃ Ôá|¾+ºq Ô=* ÔásÁ+  

 <�[Ôá¿£$ 

 1. n eT]jáTT � 

 2. � eT]jáTT � 

 3. n eT]jáTT � 

 4. n, � eT]jáTT � 

 

36. XøÔá¿£ ¿£eÚ\qT y�sÁT s�d¾q XøÔá¿±\ÔÃ ÈÔá|�sÁ#á+&�. 

 n. >·]¿£bÍ{ì eT\¢e<ó��  jáT. uó²d�ØsÁ XøÔá¿£+ 

 �. H�sÁ¢ ºsÁ+J$   sÁ. ¿±[¿±+u²d�|�ïXøÜ 

 �. bþÔáT\Ö] MsÁç�V�²�+  \. $<�«]� XøÔá¿£+ 

 �. eÖsÁ<� yî+¿£jáT«  e. Ôî\T>·T|�P\T XøÔá¿£+ 

 1. n`e, �`sÁ, �`jáT, �`\ 

 2. n`\, �`e, �`sÁ, �`jáT 

 3. n`jáT, �`\, �`e, �`sÁ 

 4. n`sÁ, �`jáT, �`\, �`e 

 
37. $<�«sÁT�ýË¢ d�sÁÇeÖqe d�eÖqÔáÇuó²eq ¿£*Ð+#á&�+ � bÍsÄÁ+ �<ûÝXø+ 

 1. d�eT<��w¾¼ 

 2. eÖÔá�uó�Ö$T 

 3. d�+<ûXø+ 

 4. V¾²ÔÃÅ£�ï\T 



38. »»|�sÁT\ ¿=sÁÂ¿ q<�T\T ç|�eV¾²+#áT, >ÃeÚ\T 

bÍ\�#áTÌ #î³T¢ |�P\T |�PjáTT .............. 

 � |�<�«+ >·\ XøÔá¿£+ 

 1. Ôî\T>·T|�P\T XøÔá¿£+ 

 2. Ôî\T>·Tu²\ XøÔá¿£+ 

 3. eTDT\eTÖ³ XøÔá¿£+ 

 4. $<�«]� XøÔá¿£+ 

 

39. »�|Õ&�µ |�<��¿ì |�s�«jáT|�<�\T 

 1. ¿£q¿£+, |�>·&�+ 

 2. sÁÔá�+, V�ä³¿£+ 

 3. �+>±sÁ+, d�ÇsÁ�+ 

 4. �Ôáï&�, |�d¾&� 

 

40. »»bÍq¿£+ýË |�Ú&�¿£µµ ` nHû C²rjáÖ�� � nsÁ�+ýË ç|�jîÖÐkÍïsÁT. 

 1. |�qT\T yîTT<�\T  ¿±Å£�+&� �Ðbþe&�+ 

 2. d�Ô�ØsÁ«eTT\ýË ¿£\T>·T $|��T�eTT\T 

 3. ºÅ£�Ø\#û kÍ~ó+|�s��~ 

 4. d�eTÖ\eTT>± H�Xøq+ #ûjáTT 

 
41. Å£�<�TsÁT ` � |�<��¿ì H�H�s��\T 

 1. |�+~], �<�q+ 

 2. úsÁT, yîTT¿£Ø  

 3. r>·, bõ<� 

 4. bÍ<�T, �<ó�sÁ+ 

 



42. »�+Ôá eT+º �|q� Ôá*¢ m+<�TÂ¿+&� bþjîTHÃ?µ nq� |�\TØýÉe]$? 

 1. $<�ÇH� $XøÇ+ 

 2. uËsTT ;óeTq� 

 3. |�Ú³¼|�]ï H�s�jáTD²#�sÁT«\T 

 4. ÜsÁTeT\ s�eT#á+ç<� 

 
43. »$C²ãqeTTµ ` |�<��¿ì $¿£�Ü 

 1. $C²ã|�q 

 2. $ÔáeTT 

 3. $>·&�jáT 

 4. $H��DeTT 

 
44. >±q jîÖ>·«yîT®, Âs+&�T bÍ<�\¹¿ |�]$TÔáyîT®q |�<�« uóñ<�+ 

 1. �ÔáØ[¿£ 

 2. <�+&�¿£+ 

 3. ~Ç|�<� 

 4. sÁ>·&� 

 

45. »»yî[ßµµ ` »»#áÖd¾µµ ` � Âs+&�Ö 

 1. ¿±ïÇsÁ�¿±\T 

 2. �XøÌjáÖsÁ�¿±\T 

 3. #û<�sÁ�¿±\T 

 4. XøçÔásÁ�¿±\T 

 
 
 



46. ¿ì+~ y�{ìýË bõ&�T|�Ú ¿£<̧� 

 1. ¿±¿ì |¾\¢ ¿±¿ì¿ì eTT<�TÝ 

 2. }sÁ+Ôá{ì¿¡ ÿ¿£fñ <�T|�Î{ì 

 3. z&�\T �Þø�ß �Þø�ß z&�\T 

 4. n+<î yûd¾q #ûsTT 

 
47. V�²>·D²�¿ì eTs=¿£ �|sÁT 

 1. »»\>·µµeTT 

 2. »»\\µµeTT 

 3. »»>·>·µµeTT 

 4. »»>·\µµeTT 

 
48. úeÚ eT+º eÖs�Z�� m+#áT¿Ã ` � y�¿£«+ýË »úeÚµ nHû~ 

 1. ç|�<̧�eT|�ÚsÁTw� @¿£e#áq+ 

 2. eT<ó�«eT |�ÚsÁTw� @¿£e#áq+ 

 3. �ÔáïeT |�ÚsÁTw� @¿£e#áq+ 

 4. ç|�<̧�eT |�ÚsÁTw� �V�Qe#áq+ 

 

49. ¿£sÁï] y�¿£«+ýË ¿£sÁ� � $uó�¿ìïýË �+³T+~ 

 1. #áÔáT �̄ 

 2. Ôá�rjáÖ 

 3. ~ÇrjáÖ  

 4. ç|�<̧�eÖ 

 

 
 



50. ¿ì+~ y�{ìýË eTÖsÁÆH�«\T 

 n. �TT, �TÖ 

 �. |�, |�� 

 �. |��T, v 

 �. sÁ, w� 

 1. n, � 

 2. �, � 

 3. n, � 

 4. n, � 
 

51. »»e<ó�Ö�|ÔáT&�Tµµ ` � |�<�+ �ý² $&�BjáÖ* 

 1. e<ó�Ö G ��|ÔáT&�T 

 2. e<ó�T G �|ÔáT&�T 

 3. e<ó�T  G n�|ÔáT&�T 

 4. e  G <ó�Ö�|ÔáT&�T 
 

52. »»� >·Tçs�\T >±* ¿£+fñ yû>·+>± yîÞ²ßsTT.µµ  

� y�¿£«+ýË� n\+¿±sÁ+ 

 1. �|�eÖ 

 2. sÁÖ|�¿£ 

 3. nÜXøjîÖ¿ìï 

 4. �çÔûÎ¿£� 
 

53. ÿ¹¿ |�<��� yî+³ yî+³Hû Âs+&�T kÍsÁT¢ ç|�jîÖÐ�dï � Âs+&�e  

|�<��� �ý² |¾\TkÍïsÁT 

 1. �|�<ó� 

 2. �çyûT&�Ôá+ 

 3. �bþÔáïeT+ 

 4. �ÔáïeT+ 



54. »»e+³¿£fÉ¼\Tµµ ` $ç>·V�²y�¿£«+ 

 1. e+³ ¿=sÁÅ£� ¿£fÉ¼\T 

 2. e+³ #ûÔá ¿£fÉ¼\T 

 3. e+³ jîTT¿£Ø ¿£fÉ¼\T 

 4. e+³ q+<�T ¿£fÉ¼\T 

 

55. »»Linguistic Survey of Indiaµµ nHû ç>·+<¸��¿ì d�+bÍ<�Å£�&�T 

 1. myîT�H�u²¿ù 

 2. C²qàH� 

 3. V�äÂ¿{Ù 

 4. çÐjáTsYd�H� 

 

56. ÔáÅ£�Øe ¿±\+ýË mÅ£�Øe |�sÄÁH��� kÍÐd�Öï, $d�ï�Ô�+Xæ*� ç>·V¾²d�Öï 

$Xâw�C²ãq+ bõ+<�&��¿ì ÔÃ&�Î&û~ 

 1. y�#� |�sÄÁq+ 

 2. ç|�¿±Xø |�sÄÁq+ 

 3. $kÍïsÁ |�sÄÁq+ 

 4. Å£��D� |�sÄÁq+ 

 

57. �V²sÁÒsY¼ kþbÍH�\ �<ó�sÁ+>± ýñU² sÁ#áq uË<ó�q kþbÍqç¿£eT+ 

 1. ç|�yûXø+, $w�Ø+uó�+, ç|�<�sÁôq, |�Úq]ÇeTsÁô 

 2. ç|�yûXø+, ç|�<�sÁôq, $w�Ø+uó�+, |�Úq]ÇeTsÁô 

 3. ç|�yûXø+, |�Úq]ÇeTsÁô, ç|�<�sÁôq, $w�Ø+uó�+ 

 4. ç|�yûXø+, ç|�<�sÁôq, |�Úq]ÇeTsÁô, Â>ÕV¾²¿£+ 

 



58. »»�¹sÝ¥+#áTÅ£�q� \¿�±«\qT #ûsÁ&��¿ì #ûjáTe\d¾q ¿£�Ô�«\qT  

ÿ¿£ esÁTd�ýË neTsÁTÌ¿Ãe&�+ ç|�D²[¿£µµ nq�~ 

 1. uÉ+ÈyîTH� çb�Í+¿ì¢H� 

 2. C²H� nÂs¨+{ì 

 3. ný²H� ýÉÕÂ¿H� 

 4. #�y�TdÓØ 

 

59. ¿ì+~ y�{ìýË çÜbÍsÁôÇ �|�¿£sÁD+ 

 1. esÁ�ºçÔ�\T 

 2. <ó�s�|�{²\T 

 3. eÖÔá�¿£\T 

 4. yîTsÁT|�Ú n³¼\T 

 

60. ÿ¹¿ eÖ³ýË Èy��T s�jáT&�+, �ºÌq d�eÖ<ó�H�ýË¢ d�ÂsÕq  

U²°\T |�P]+#á&�+, ÈÔá|�sÁ#á&�+, ÔábõÎ|�ð\T Ôî\Î&�+  

e+{ì$ � sÁ¿£yîT®q ç|�Xø�\T 

 1. \|��TT d�eÖ<ó�H�\ ç|�Xø�\T 

 2. y�«d�sÁÖ|� d�eÖ<ó�H�\ ç|�Xø�\T 

 3. $esÁD²Ôá�¿£ ç|�Xø�\T 

 4. ed�Tï�w�÷ ç|�Xø�\T 

 

 

  



 
61. Identify the grammatically correct sentence. 
 1. There are less dresses. 
 2. There are fewer dresses. 
 3. There is fewer dresses. 
 4. There is less dresses. 

 

62. Choose the option that best fits the blank. When more than one 
singular noun is joined by ‘or’, the subject is considered to be 
_______. 

 1. plural 
 2. dual 
 3. singular 
 4. multiple 
 

63. One of the following is the term for someone who loves 
wisdom. 

 1. Philosopher 
 2. Philanthropist 
 3. Connoisseur 
 4. Gourmand 

 

64. The following sentence uses a modal verb to indicate a 
command: “You ______ finish your homework before going 
out.” 

 1. should 
 2. would 
 3. must 
 4. might 
 



65. Identify the correct apostrophe used for a joint possession. 
 1. John and Mary’s car. 
 2. John’s and Mary’s car. 
 3. John and Mary cars. 
 4. John and Marys’ car. 
 

66. The following should be used to create vivid imagery in a 
poem: 

 1. general descriptions 
 2. complex narrative 
 3. metaphors and similes 
 4. technical jargon  

 

67. Choose the sentence that is NOT in the past tense: 
 1. She played the piano. 
 2. He is writing an essay. 
 3. They had finished their dinner. 
 4. I was walking to the park. 
 

68. Choose the structure of the future perfect continuous tense. 
 1. Subject + will + base form of the verb 
 2. Subject + will + be + verb + ing 
 3. Subject + will + have + past participle 
 4. Subject + will + have + been + verb + ing 

  



69. Choose the correct sentence type: “What time is it?” 
 1. Declarative 
 2. Imperative 
 3. Interrogative 
 4. Exclamatory 
 
70. He finished the race. 
 Choose the correct transformation of the simple sentence 

above into a complex sentence: 
 1. He finished the race, so he was happy. 
 2. As he finished the race, he was happy. 
 3. He finished the race, but he was tired. 
 4. He finished the race, and was happy. 
 
71. Select the example of a conditional clause: 
 1. He will come if you invite him. 
 2. She painted the wall green. 
 3. The cat sat on the window sill. 
 4. I like ice cream. 
 

72. The movie was interesting. _______, the ending was 
predictable. 

 Choose the linker that fits the blank. 
 1. Hence 
 2. Despite 
 3. Although 
 4. Thus 

 

  



73. Choose the correct sequence of the words in which they occur 
in a dictionary. 

 i. player 
 ii. plastic 
 iii. plaster 
 iv. plait 
 1. iv, ii, iii, i 
 2. iii, ii, i, iv 
 3. iv, iii, ii, i 
 4. i, iii, iv, ii 

 

74. Choose the correct spelling of the word. 
 1. nuisence 
 2. nuisance 
 3. nuesance 
 4. newsence 

 

75. Identify the correct usage of the indefinite article from the 
following examples: 

 1. She met an friend at the market. 
 2. I need an hundred rupees. 
 3. He is a European artist. 
 4. They found an university nearby. 

. 

76. _______ the rules, you must wear a helmet.  
 Choose the correct preposition that fits the blank. 
 1. Aside from 
 2. According to 
 3. Inspite of 
 4. Instead of 
 



77. This made me wonder, who were these brave Indian people. 
 Choose the synonym that means ‘wonder’ 
 1. accept 
 2. disregard 
 3. ignore 
 4. ponder 

 

78. After prolonged discussion, Einstein got his wish to continue 
his education in German-speaking Switzerland, in a city which 
was more liberal than Munich. 

 Choose the antonym of the word ‘liberal’.  
 1. Conservative 
 2. Progressive 
 3. Open - minded 
 4. Tolerant 
 

79. Select the correct indirect speech for: 
 The stranger asked, “Where do you live?” 
 1. The stranger asked where do I live. 
 2. The stranger asked where I live. 
 3. The stranger asked where did I live. 
 4. The stranger asked where I lived. 

 

80. He had to _________ his vacation plans due to unexpected 
work commitments. 

 Choose the phrasal verb that fits the blanks. 
 1. take after 
 2. get up 
 3. put off 
 4. look into 



81. I repaired it myself. 
 In the above sentence, “myself’ is used to _________. 
 1. highlight the thing that was repaired. 
 2. reduced the importance of ‘I’. 
 3. emphasise the importance of the repair work. 
 4. emphasise ‘I’. 
 
82. Identify the adjective from the following. 
 1. quickly 
 2. slowly 
 3. friendly 
 4. easily 
 

83. Read the following passage carefully. 

 Despite its economic growth, India struggles with significant 
poverty. Large segments of the population live below the 
poverty line, facing challenges like inadequate access to basic 
necessities such as clean water, education, and healthcare. 
Government initiatives and NGOs work to address these 
issues, but poverty remains a persistent challenge in the 
country’s development. 

 Choose the option that fits the blank. 
 Poverty in India is associated with inadequate access to basic 

necessities such as ____________. 
 1. luxury goods 
 2. high- tech gadgets 
 3. clean water and education 
 4. entertainment 
  
 
 
 



84. Read the following passage carefully. 

 Despite its economic growth, India struggles with significant 
poverty. Large segments of the population live below the 
poverty line, facing challenges like inadequate access to basic 
necessities such as clean water, education, and healthcare. 
Government initiatives and NGOs work to address these 
issues, but poverty remains a persistent challenge in the 
country’s development. 

 Identify the type of organisations working to address poverty 
issues in India. 

 1. Private companies 
 2. Government and NGOs 
 3. Foreign government 
 4. Educational institutions 
 
85. Identify the sub-skill of speaking that involves using correct 

stress patterns. 
 1. Vocabulary 
 2. Mechanical movement 
 3. Grammar 
 4. Articulation 

 
86. Choose the best option that fits the blank. 
 Skimming and scanning are the types of ________ reading. 
 1. content-based 
 2. sound-based 
 3. grammar-based 
 4. tone-based 

 
 
 
 
 



87. Identify the limitation of Dr. West’s Method. 
 1. Neglects reading and writing 
 2. Unnatural learning sequence 
 3. Reading-centric approach 
 4. Pronunciation challenges 
 
88. Identify a core teaching skill by NCERT 
 1. Skill of ignoring questions  
 2. Skill of time - wasting  
 3. Skill of using the black board proficiently  
 4. Skill of reading aloud. 

 

89. Choose the best option that fits the blank 
 The National Knowledge Commission (NKC) emphasized the 

teaching of English from the _______ schooling years. 
 1. secondary 
 2. early 
 3. middle 
 4. higher 

 

90. Identify the activity that enhances the ability to write English 
 1. Listening to English songs 
 2. Reading English novels 
 3. Writing letters, applications and descriptions 
 4. Speaking with native speakers. 
 
 
 
 
 



 
 
91. Supplementary angle of x is y then x + y is 
 x jîTT¿£Ø d�+|�PsÁ¿£ ¿ÃD+ y nsTTq x + y 

 1. 90° 

 2. 180° 

 3. 270° 

 4. 360° 
 

92. One of the adjacent angles of a parallelogram is 85° then the 
other one is 

 d�eÖ+ÔásÁ #áÔáTsÁTÒÛÈeTT jîTT¿£Ø �d�q� ¿ÃD²\ýË ÿ¿£{ì 85° nsTTq 

eTs=¿£ ¿ÃDeTT 

 1. 85° 

 2. 5° 

 3. 95° 

 4. 275° 
  

93. The value of x in the adjacent diagram is 

 ç|�¿£Ø |�³+ýË  x $\Te 

 1. 110° 

 2. 100° 

 3. 40° 

 4. 50° 
  

94. 
2 2

2 2

(2.5) 2 2.5 1.5 (1.5) 2.5 1.5
(2.5) 2 2.5 1.5 (1.5) 2.5 1.5

+ ´ ´ + -
´ =

- ´ ´ + +
 

 1. 0 
 2. 4 
 3. 3 
 4. 1 



95. The median of data 1 3 5 1 1, , , ,
2 4 3 12 6

 is 

 <�Ô�ï+XøeTT 
1 3 5 1 1, , , ,
2 4 3 12 6

 jîTT¿£Ø eT<ó�«>·Ôá+ 

 1. 5
3

 

 2. 1
12

 

 3. 1
6

 

 4. 1
2

 

  

96. Renu purchases two bags of fertilizer of weights 175kg and 
225kg. Then the maximum value of weight which can measure 
both these fertilizer bags in exact number of times  

 ¹sDT 175 ¿ìýË\T eT]jáTT 225 ¿ìýË\ �sÁTeÚq� �kÍï\ msÁTeÚ\qT  

¿=qT>Ã\T #ûd¾+~. � Âs+&�T msÁTeÚ\ �kÍï\qT KºÌÔáyîT®q kÍsÁT¢  

¿=\e>·\ >·]w�÷ �sÁTeÚ $\Te 

 1. 100 
 2. 50 
 3. 25 
 4. 12.5 
  

97. Perimeter of a square is 4x + 8. Then area of the square is 

 #áÔáTsÁçd�+ jîTT¿£Ø #áT³T¼¿=\Ôá 4x + 8 nsTTÔû #áÔáTsÁçd� yîÕXæ\«+ 

 1. 24 8 16x x+ +  

 2. 216 64 64x x+ +  

 3. 2 4 4x x+ +  

 4. 2 8 16x x+ +  

  



98. If 100.2001 10.01=  then 0.01002001  is 

 100.2001 10.01=  nsTTq 0.01002001  $\Te 

 1. 0.01001 
 2. 1.0001 
 3. 100.01 
 4. 0.1001 
  
99. Kaprekar constant is 
 ¿±ç�|¿£sY d¾�s�+¿£+ 

 1. 6714 
 2. 6417 
 3. 6147 
 4. 6174 
  
100. Circumference of a semi-circle of radius 35cm is  

22
7

pæ ö=ç ÷è ø
 (in cm) 

 y�«kÍsÁÆ+ 35�d+.MT. >·\ nsÁ�e�Ôáï+ |�]~ó 
22
7

pæ ö=ç ÷è ø
 (�d+.MT. \ýË) 

 1. 199 
 2. 180 
 3. 110 
 4. 109 
 

  



101. Kundana bought 5metres of shirting cloth. She used 1.8m for 
her elder son Tarun and 1.6m for her younger son Pavan. The 
length of shirting cloth left is (in m) 

 Å£�+<�q 5MT bõ&�eÚ >·\ >·T&�¦ýË 1.8MT �|<�Ý Å£�eÖsÁT&�T ÔásÁTDYÅ£�,  

1.6MT ºq� Å£�eÖsÁT&�T |�eH�Å£� #=¿±Ø\T Å£�{ì¼+º+~. $TÐ*q >·T&�¦  

bõ&�eÚ (MT. \ýË) 

 1. 3.4 
 2. 1.6 
 3. 2.6 
 4. 2.4 
  
102. Identify the TRUE statement 
 1. The median is always one of the numbers in a data 
 2. The mean is one of the numbers in a data 
 3. The mode is always one of the numbers in a data (if 

mode exist) 
 4. Mode of 2, 3, 1, 5, 2, 3, 6 is 6 
 ç¿ì+~ y��ýË d�]jî®Tq~ 

 1. eT<ó�«>·Ôá+ m\¢|�ð&�Ö <�Ô�ï+XøeTTýË� d�+K«\ýË ÿ¿£{ì 

 2. d�>·³T nHû~ <�Ô�ï+Xø+ýË� d�+K«\ýË ÿ¿£{ì  

 3. u²V�QÞø¿£eTT m\¢|�ð&�Ö <�Ô�ï+XøeTTýË� d�+K«\ýË ÿ¿£{ì 

(u²V�QÞø¿£eTT e«ed¾�Ôá+ nsTTq) 

 4. 2, 3, 1, 5, 2, 3, 6 <�Ô�ï+XøeTT jîTT¿£Ø u²V�QÞø¿£eTT 6 

   

  



103. The side of a cube is 1cm. Then  
 total surface area – Lateral surface area = (in cm2) 

 ÿ¿£ |��Tq+ jîTT¿£Ø uó�TÈ+ 1 �d+.MT. nsTTÔû,  

d�+|�PsÁ�Ôá\ yîÕXæ\«+ – ç|�¿£ØÔá\ yîÕXæ\«+ = (#á. �d+.MT) 

 1. 1 
 2. 2 
 3. 3 
 4. 4 
 

104. The value of ( ),
n mm n m n

m n
æ ö-

´ -ç ÷+è ø
 when m = 3 and n = 2 is 

 m = 3 eT]jáTT n = 2 nsTTq|�Ú&�T, ( )
n mm n m n

m n
æ ö-

´ -ç ÷+è ø
 

jîTT¿£Ø $\Te 

 1. 1
5

 

 2. 2
5

 

 3. 3
5

 

 4. 1 
  
105. Which of the following pair is co-primes but not twin primes 
 ¿ì+~ y��ýË |�sÁd�ÎsÁ ç|�<ó�q d�+K«ýÉÕ, ¿£e\ ç|�<ó�q d�+K«\T ¿±� ÈÔá 

 1. (3, 5) 
 2. (7, 9) 
 3. (17, 19) 
 4. (29, 31) 

  

  



106. Smallest 3-digit number which is exactly divisible by 6, 8, 12 
is 

 6, 8 eT]jáTT 12 \#û KºÌÔá+>± uó²Ð+#á�&û nÜ ºq� 3`n+Â¿\  

d�+K« 

 1. 102 
 2. 104 
 3. 120 
 4. 124 
  

 

 

107. The value of 1 1
2 4

+  in ‘percent’ form is 

 1 1
2 4

+  $\Te »XæÔá+µ sÁÖ|�+ýË 

 1. 50% 
 2. 75% 

 3. 187
2

% 

 4. 80% 
   

  



108. (a) A square can be thought of a special Rhombus 
 (b) A parallelogram can be thought of a special rectangle 
 Identify the correct option 
 1. a is true, b is true 
 2. a is false, b is true 
 3. a is true, b is false 
 4. a is false, b is false 
 (a) #áÔáTsÁçkÍ�� ÿ¿£ ç|�Ôû«¿£ s�+�dt>± uó²$+#áe#áTÌ. 

 (b) d�eÖ+ÔásÁ #áÔáTsÁTÒÛC²�� ÿ¿£ ç|�Ôû«¿£ BsÁé #áÔáTsÁçd�+>±  

 uó²$+#áe#áTÌ. 

 d�]jî®Tq d�eÖ<ó�q+ 

 1. a d�Ôá«+, b d�Ôá«+ 

 2. a nd�Ôá«+, b d�Ôá«+ 

 3. a d�Ôá«+, b nd�Ôá«+ 

 4. a nd�Ôá«+, b nd�Ôá«+ 

  

109. If 3 243x =  then the value of 2 32 x-  is 

 3 243x =  nsTTÔû 2 32 x-  jîTT¿£Ø $\Te 

 1. 64 
 2. 128 
 3. 256 
 4. 512 
  
110. Number of intersection points of two parallel line is 

 Âs+&�T d�eÖ+ÔásÁ ¹sK\ K+&�q _+<�TeÚ\ d�+K« 

 1. 4 
 2. 3 
 3. 2 
 4. 0 



111. The mean of data 1 3 5 7, , ,
2 2 2 2
-  is 

 <�Ô�ï+XøeTT 
1 3 5 7, , ,
2 2 2 2
-  jîTT¿£Ø d�>·³T 

 1. 11
4

 

 2. 11
5

 

 3. 12
4

 

 4. 12
5

 

 
112.  

 

  

 Rule that gives number of matchsticks needed to get above 
pattern is (use variable ‘n’ for number of matchsticks) 

 �|ÕqTq� neT]¿£¿£T ned�sÁyîT®q nÐZ|�Ú\¢\ d�+K«qT Ôî*�| �jáTeTeTT

  

(nÐZ|�Ú\¢\ d�+K« ¿=sÁÅ£� ‘n’ #ásÁs�¥� �|�jîÖÐ+#á+&�) 

 1. 5n 
 2. 6n 
 3. 5n + 1 
 4. 6n + 1 
 

  



113. A man got 10% increase in his salary. If his new salary is 
`14300 then his original salary is (in Rs.) 

 ÿ¿£ e«¿ìï yûÔáq+ýË 10% �|]Ðq Ôás�ÇÔá ¿=Ôáï yûÔáq+ `14300. nÔá� 

nd�\T yûÔáq+ (sÁÖ. \ýË) 

 1. 14443 
 2. 13000 
 3. 14157 
 4. 13143 

 

114. (a) If x and y are in direct proportion then x
y

=  constant 

 (b) If x and y are in inverse proportion then x . y = constant 
 Then identify the correct statement 
 1. a is true, b is false 
 2. a is false, b is true 
 3. a is false, b is false 
 4. a is true, b is true 

 (a) x eT]jáTT y \T nqTýËeÖqTbÍÔá+ýË �+fñ 
x
y

=  d¾�s�+¿£+ 

 (b) x eT]jáTT  y \T $ýËeÖqTbÍÔá+ýË �+fñ x . y = d¾�s�+¿£+ 

 ç¿ì+~ y��ýË d�]jî®Tq y�¿£«eTT 

 1. a d�Ôá«+, b nd�Ôá«+ 

 2. a nd�Ôá«+, b d�Ôá«+ 

 3. a nd�Ôá«+, b nd�Ôá«+ 

 4. a d�Ôá«+, b d�Ôá«+ 

  

  

  



115. Characteristics of good project are 

 a. Project method with a perfect objective is close to  
  reality 

 b. Develops imagination and creativity 

 c. Its very useful and save students time and efforts 

 �ÔáïeT çbÍCÉ¿ù¼ \¿£�D²\T 

 a. #á¿£Ø{ì �<ûÝXø+ ¿£*Ð, y�d�ï$¿£ÔáÅ£� <�>·ZsÁ>± �+³T+~. 

 b. }V�äÔá�¿£ �ýË#áq, d��ÈH�Ôá�¿£ÔáqT �|+bõ+~d�Tï+~ 

 c. ç|�jîÖÈq¿±]>± �+³Ö, $<�«sÁT�\ d�eTjáT+, ç|�jáTÔ��\qT  

  �<� #ûd�Tï+~. 

 1. a, c 

 2. b, c 

 3. a, b, c 

 4. a, b 
 
116. “Mathematics is the Science of quantity” this definition  

is given by 

 1. Comte 

 2. Peirce 

 3. Locke 

 4. Aristotle 

 »»>·DìÔá eT+fñ |�]eÖD Xæçd�ï+µµ n� �sÁÇº+ºqy�sÁT 

 1. ¿ÃyûT¼ 

 2. |¾jáTsYà 

 3. ý²¿ù 

 4. n]kÍ¼{ìýÙ 

 



117. One of the following is not related to 5 “E” Instructional 
model. 

 ç¿ì+~ y��ýË 5 “E” �H�çd�¼¿£�qýÙ yîÖ&�ýÙ¿ì #î+<��~ 

 1. Explore 

 2. Elaborate 

 3. Experience 

 4. Evaluate 
 

118. Steps in R.C.E.M approach 

 a. Expected Behaviour outcomes 

 b. Communication strategy 

 c. Evaluating Behavioural changes 

 R.C.E.M qeTÖH�ýË kþbÍH�\T 

 a. �¥+ºq ç|�esÁïH� |��*Ô�\T 

 b. d�eÖ#�s��� n+~+#û eP«V�²+ 

 c. ç|�esÁïH� eÖsÁTÎ\qT eTÖý²«+¿£q+ #ûjáT&�+ 

 1. b, c  

 2. a, b 

 3. a, c 

 4. a, b, c 

  

119. Marks allotted for “Project work” in Formative Assessment 

 �s��D²Ôá�¿£ eT~+|�ÚýË »»çbÍCÉÅ£�¼ |��µµ ¿=sÁÅ£� ¹¿{²sTT+ºq eÖsÁTØ\T 

 1. 10 

 2. 30 

 3. 20 

 4. 50 



120. According to L.W. Anderson, as a part of changes in 
vocabulary the term “Synthesis” is changed as 

 1. Analysis 

 2. Creating 

 3. Summarize 

 4. Execute 

 L.W. n+&�sÁàH� ç|�¿±sÁ+ |�<�C²\+ýË eÖsÁTÎýË uó²>·+>±  

»d�+Xâ¢w�Dµ qT ç¿ì+~ $<ó�+>± eÖsÁÌ&�+ È]Ð+~ 

 1. $Xâ¢w�D 

 2. d��w¾¼+#áT³ 

 3. d�+ç>·V�²D+ 

 4. �sÁÇV¾²+#áT³ 

 

  



 

 

121. A simple pendulum takes 1sec to complete 2 oscillations. The 
time period of the pendulum is   

 ÿ¿£ \|��TTýË\¿£+ 1 �dööýË 2 &Ã\H�\T |�P]ï #ûd¾+~. � ýË\¿£|�Ú  

&Ã\H�esÁïq ¿±\+   

  1. s
2
1  

2. 2s 

3. s
3
1  

 4.   3s 
  

  
122. A device that is used either to break the electric circuit or to 

complete it is  
  1. Bulb 

2. Electric cell  
3. Filament  

 4. Switch  
 $<�T«ÔY e\jáÖ�� ÔîsÁe&��¿ì ýñ<� eTÖd¾yûjáT&��¿ì �|�jîÖÐ+#û 

ÿ¿£ |�]¿£sÁ+ 

 1. �ýÙÒ 

 2. $<�T«ÔY |��T³+ 

 3. |�¾\yîT+{Ù 

 4. d¾Ç#Y 

 

  



123.  The frequency of mechanical waves, that human cannot hear is   
eÖqeÚ\T $qýñ� jáÖ+çÜ¿£ ÔásÁ+>· båq'|�Úq«+  

1. 15000Hz 
2. 1500Hz 
3. 150Hz 

 4. 15Hz 

 
124. The brighter star ‘Sirius’ is close to this constellation    

  1. Big dipper  

2. Orion 
3. Cassiopeia  

 4. Gemini  

 nÔá«+Ôá ç|�¿±Xøe+ÔáyîT®q q¿£�çÔá+ »d¾]jáTdtµ � q¿£�çÔá s�¥¿ì  

d�MT|�+ýË �+~. 

 1. _>&́�|�ÎsY 

 2. z]jáTH� 

 3. ¿±d¾jîÖ|¾jáÖ 

 4. CÉ$T� 

 

  



125. The incorrect statement from the following  

  1. CO2 traps heat and does not allow it to escape into  
  space. 
2. Excess of CO2 in the air, acts as a pollutant. 
3. Methane, nitrous oxide are greenhouse gases.  

 4. Global warming is not a cause for rise of sea levels.  
 ç¿ì+~ y��ýË d�]¿±� y�¿£«eTT  

 1. CO2 yû&�� �+~ó+#á&�yûT ¿±¿£ n+Ôá]¿£�+ýË¿ì yû&�$T  

  bþÅ£�+&� #ûd�Tï+~.  

 2. >±*ýË� n~ó¿£  CO2 ¿±\Tw�« ¿±sÁ¿£+>± |�� #ûd�Tï+~. 

 3. $T<̧ûH�, HîÕç³dt �Â¿Õà&�\T ç^H� V�²�dt y�jáTTeÚ\T. 

 4. d�eTTç<�\ ú{ìeT³¼+ �|sÁT>·T<�\Å£� >Ã¢�ýÙ y�]�+>́  

  ¿±sÁD+ ¿±<�T. 

 
126. The female reproductive part of a flower is  

  1. Calyx 

2. Corolla  
3. Androecium  

 4. Pistil  
 |�Úw�Î+ýË� �dÓï ç|�ÔáT«ÔáÎÜï uó²>·+ 

 1. sÁ¿£�¿£ |�çÔ�e[ 

 2. �¿£sÁüD |�çÔ�e[ 

 3. ¹¿d�s�e[ 

 4. n+&�¿ÃXø+   

 

  



127. The cell organelle involves in “membrane biogenesis”  

  1. Vacuoles 

2. Endoplasmic reticulum   
3. Centriole  

 4. Leucoplast  

 »»ÔáÇ#áJyÃÔáÎÜïµµ ýË bÍý¤ZHû ¿£D²+>·+ 

 1. ]¿ìï¿£\T  

 2. n+Ôá̄ ë ç<�e«C²\¿£+ 

 3. �d+ç{ìjîÖýÙ 

 4. \Ö«¿ÃbÍ¢dt¼\T  

 
  



128. Identify the correct pairs with respect to respiratory 
movements  

  a. The diaphram contracts  –  volume of chest  
          cavity increases  
b. The diaphram contracts  –   volume of chest  

        cavity decreases  
c. The diaphram relaxes  –   the volume of chest  

         cavity increases 
d. The diaphram relaxes  –   the volume of chest  

         cavity decreases. 
 1. a and d 

2. b and c 
3. b and d  
4. a and c 

 XæÇd� ¿£<�*¿£\ |�sÁ+>± d�]jî®Tq ÈÔá\qT >·T]ï+#á+&�. 

 a. �<�sÁ$Ô�q+ d�+¿Ãº+#á&�+ –  �sÁ'Å£�V�²sÁ |�]eÖD+ 

                                   �|sÁT>·TÔáT+~.  

b. �<�sÁ$Ô�q+ d�+¿Ãº+#á&�+ –  �sÁ'Å£�V�²sÁ |�]eÖD+  

     Ôá>·TZÔáT+~    

c. �<�sÁ$Ô�q+ d�&�\T³  –  �sÁ'Å£�V�²sÁ |�]eÖD+ 

         �|sÁT>·TÔáT+~.         

d. �<�sÁ$Ô�q+ d�&�\T³  –  �sÁ'Å£�V�²sÁ |�]eÖD+  

     Ôá>·TZÔáT+~ 

 1. a eT]jáTT d 

2. b eT]jáTT c 

3. b eT]jáTT d  

4. a eT]jáTT c 

     
  



129.  The major component of Urine is  
 1. Organic substances  

2. Inorganic Substances  
3. Oxalates  

 4. Water  
  eTÖçÔá+ýË n~ó¿£+>± �+&û nqT|��T³¿£+ 

 1. ¿£sÁÒq |�<�s��\T 

 2. n¿£sÁÒq |�<�s��\T 

3. n¿£̈ýñ{Ù\T 

4. úsÁT  

 
130. Planting of these palnts on field bunds helps to make the soil 

nitrogen-rich 
  1. Gliricidia  

2. Eucalyptus  
3. Custard apple  

 4. Neem  
 bõ\+ >·³¢�|Õ � yîTT¿£Ø\T �|+#á&�+, Hû\ýË HîÕç{ËÈH� �\Ç\T 

�|]¹>+<�TÅ£�, d�V�äjáT|�&�TÔáT+~. 

 1. Â>¢í]dÓ&�jáÖ 

 2. jáTÖ¿£*|�¼dt 

 3. dÓÔ�|��\+ 

 4. yû|� 

  

  



131. The chemicals used to test the proteins are  
  1. Sodium chloride and Hydrochloric acid  

2. Copper Sulphate and Caustic soda  
3. Magnesium chloride and sulphuric acid 

 4. Ammonium Sulphate and baking soda  
 çbõ{¡H� |�̄ ¿£�Å£� �|�jîÖÐ+#û sÁkÍjáTH�\T  

 1. kþ&�jáT+ ¿Ã¢ÂsÕ&� eT]jáTT �VÕ²ç&Ã¿Ã¢]¿ù �eT¢+ 

 2. ¿±|�sY d�ýñÎÛ{Ù eT]jáTT ¿±d¾¼¿ùkþ&� 

 3. yîT^�w¾jáT+ ¿Ã¢ÂsÕ&� eT]jáTT d�\Ö«ÎÛ]¿ù �eT¢+   

 4. nyîÖ��jáT+ d�ýñÎÛ{Ù eT]jáTT uñ¿ì+>́ kþ&�  

 

 

132. This helps to identify the location of the address easily  
1. PAN number  
2. PIN number  
3. Name 

 4. Door Number  
 ºsÁTH�eÖýË �q� ç|�<ûXøeTTqT d�T\uó�+>± >·T]ï+#á&��¿ì d�V�äjáT|�&û~ 

 1. PAN d�+K« 

 2. PIN d�+K« 

3. �|sÁT 

4. �+{ì ç¿£eT d�+K« 

 

  



 
133. The capital city of Chedi Mahajanapada was   
 1. Prathistan  
 2. Rajagriha 
 3. Madhura 
 4. Sothivathi 
 #óû~ eTV�äÈq|�<��¿ì s�È<ó�� 

 1. ç|�ÜcÍ¼q 

 2. s�È>·�V�² 

 3. eT<ó�TsÁ 

 4. XËÜeÜ 

 

134. The articles related to Right to Education and culture in the 
Indian constitution are 

 1. Article 19 - 22 
 2. Article 28 - 29 
 3. Article 29 - 30 
 4. Article 30 - 31 
 uó²sÁÔá s�C²«+>·+ýË $<�« kÍ+d�Ø�Ü¿£ V�²Å£�ØÅ£� d�+�+~ó+ºq  

ç|�¿£sÁD\T 

 1. ç|�¿£sÁD 19 ` 22 

 2. ç|�¿£sÁD 28 ` 29 

 3. ç|�¿£sÁD 29 ` 30 

 4. ç|�¿£sÁD 30 ` 31 

  

 
 



135. The state where the Warli Revolt took place in 1940 
 1. Maharashtra 
 2. Rajasthan 
 3. Uttarakhand 
 4. Bihar 
 1940ýË e ¢̄ ÜsÁT>·Tu²³T È]Ðq s�çw�¼+ 

 1. eTV�äs�çw�¼ 

 2. s�ÈkÍ�H� 

 3. �Ôáïs�K+&� 

 4. ;V�äsY 

 
136. Find out the incorrect statement regarding the state’s 

boundaries  
 1. Telangana Shares its boundary with Andhra Pradesh, 

Karanataka, Chhattisgarh, Maharastra 
 2. Odisha shares its boundary with West Bengal, 

Jharkhand, Andhra Pradesh, Madhya Pradesh 
 3. Bihar shares its boundary with West Bengal, Jharkhand, 

Uttar Pradesh 
 4. Jharkhand shares its boundary with Bihar, West Bengal, 

Odisha, Chhattishgarh, Uttar Pradesh 
 s�çcÍ¼\ d�]V�²<�TÝ\Å£� d�+�+~ó+º d�]¿±� n+Xæ�� >·T]ï+#á+&�. 

 1. Ôî\+>±DÔÃ d�]V�²<�TÝ\T |�+#áTÅ£�+³Tq� s�çcÍ¼\T `  

�+ç<ó�ç|�<ûXÙ, ¿£s��³¿£, #óárïdt|��T&�, eTV�äs�çw�¼ 

 2. ÿ&�kÍàÔÃ d�]V�²<�TÝ\T |�+#áTÅ£�+³Tq� s�çcÍ¼\T `  

|�¥ÌeTuÉ+>±ýÙ, C²sÁ�+&�, �+ç<ó�ç|�<ûXÙ, eT<ó�«ç|�<ûXÙ 

 3. ;V�äsYÔÃ d�]V�²<�TÝ\T |�+#áTÅ£�+³Tq� s�çcÍ¼\T `  

|�¥ÌeTuÉ+>±ýÙ, C²sÁ�+&�, �ÔáïsÁç|�<ûXÙ 

 4. C²sÁ�+&�ÔÃ d�]V�²<�TÝ\T |�+#áTÅ£�+³Tq� s�çcÍ¼\T ` ;V�äsY,  

 |�¥ÌeTuÉ+>±ýÙ, ÿ&�kÍà, #óárïdt|��T&�, �ÔáïsÁç|�<ûXÙ 



   

137. Financial bills should be introduced in the Legislative 
Assembly with prior approval of 

 1. Speaker 
 2. Chief Minister 
 3. Governor 
 4. Finance Minister 
 �]Æ¿£ _\T¢\T M] nqTeTÜ bõ+~q Ôás�ÇÔá eÖçÔáyûT Xæd�q d�uó�ýË  

ç|�yûXø�|{²¼*. 

 1. dÓÎ¿£sY 

 2. eTTK«eT+çÜ 

 3. >·esÁ�sY 

 4. �]Æ¿£eT+çÜ 

   

  



138. Find out the correct statements regarding the functions of 
Grama Panchayat 

 a. Levying and collecting local taxes 
 b. Executing government schemes related to employment  
 c. The construction and maintenance of water sources, 

roads, drainage and school buildings 
 d. Approves the grama panchayat plans and allocate the 

funds 
 ç>±eT|�+#�sTTr $<ó�T\Å£� d�+�+~ó+º d�ÂsÕq y�¿±«\qT >·T]ï+#á+&�. 

 a. kÍ��¿£+>± |�qT�\T $~ó+#á&�+ eT]jáTT ed�Ö\T #ûjáT&�+ 

 b. �bÍ~ó¿ì d�+�+~ó+ºq ç|�uó�TÔáÇ |�<̧�¿±\qT neT\T #ûjáT&�+ 

 c. ú{ì eqsÁT\T, sÃ&�T¢, eTTsÁT>·TúsÁT bÍsÄÁXæ\ uó�eH�\ 

�s��D+ eT]jáTT �sÁÇV�²D 

 d. ç>±eT|�+#�sTTr\ ç|�D²[¿£\qT �yîÖ~+º �<ó�T\T  

¹¿{²sTT+#á&�+ 

 1. a, c, d 
 2. b, c, d 
 3. a, b, c 
 4. a, b, c, d 

   

139. Pradhana Mantri Kaushal Vikas Yojana (PMKY)  
was started in 

 ç|�<ó�q eT+çÜ ¿�XøýÙ $¿±dt jîÖÈq (PMKY) çbÍsÁ+_ó+#á�&�q  

d�+eÔáàsÁ+ 

 1. 2013 
 2. 2015 
 3. 2017 
 4. 2019 
  
 



140. Find out the incorrect pair of the districts and their 
headquarters in Andhra Pradesh 

 1. Alluri Sitarama Raju - Paderu 
 2. B.R. Ambedkar Konaseema - Amalapuram 
 3. Palnadu - Macharla 
 4. West Godavari - Bhimavaram 

 �+ç<ó�ç|�<ûXÙýË� �ý²¢\T y�{ì ç|�<ó�q ¹¿+ç<�\Å£� d�+�+~ó+º  

d�]¿±� ÈÔáqT >·T]ï+#á+&�. 

 1. n\Ö¢] dÓÔ�s�eTs�E ` bÍ&ûsÁT 

 2. _.�sY. n+uñ<�ØsY ¿ÃqdÓeT ` neTý²|�ÚsÁ+ 

 3. |�ý²�&�T ` eÖ#ásÁ¢ 

 4. |�¥ÌeT >Ã<�e] ` ;óeTesÁ+ 

  
141. The Southern boundary of Malwa Plateau is 
 1. Vindhya Range 
 2. Satpura Range 
 3. River Narmada 
 4. Aravali Range 
 eÖý²Ç |ÓsÄÁuó�Ö$T¿ì <�¿ì�D d�]V�²<�TÝ  

 1. $+<ó�«çXâDì 

 2. kÍÔáÖÎs�çXâDì 

 3. qsÁ�<� q~ 

 4. �s�e[ çXâDì 

 
  



142. Identify the fundamental Rights guaranteed by Article 22 of 
the Indian Constitution to every person arrested under criminal 
law 

 a. The Right to be presented before a magistrate within  
24 hours of arrest 

 b. Confessions made in police custody can be used as 
evidence against the accused  

 c. Children under 15 years of age and women cannot be 
called to the police station only for questioning 

 d. The Right not to be ill-treated or tortured during arrest 
or in custody  

 HûsÁ#á³¼+ ç¿ì+<� nÂsdt¼ ¿±�&�q ç|�r e«¿ìï¿ì uó²sÁÔá s�C²«+>·+ýË�  

22e n~ó¿£sÁD+ V�äMT �d�Tïq� çbÍ<̧�$T¿£ V�²Å£�Ø\qT >·T]ï+#á+&�. 

 a. nÂsdt¼ ¿±�&�q 24 >·+³\ýË|�Ú yûT�ç�d¼{Ù eTT+<�T  

V�äÈsÁT |�sÁ#á�&û V�²Å£�Ø 

 b. bþ©d�T ¿£d�¼&�ýË �+~ÔáT&�T n+^¿£]+ºq Hûs���  

�+~ÔáT�¿ì e«Ü¹s¿£ kÍ¿£�«+>± �|�jîÖÐ+#á&�+. 

 c. 15 @Þø¢ ýË|�Ú |¾\¢\qT, eTV¾²Þø\qT ¹¿e\+ ç|�¥�+#á&��¿ì 

bþ©dt �d¼w�H�Å£� |¾\Tes�<�T. 

 d. nÂsdt¼ ýñ<� �sÁÒÛ+<ó�+ýË �q� d�eTjáT+ýË u²~ó+|�ÚqÅ£�, 

V¾²+d�Å£� >·T]¿±Å£�+&� �+&û V�²Å£�Ø. 

 1. a, c, d 
 2. b, c, d 
 3. a, b, c 
 4. a, b, c, d 

  

 

 

 

 

 



143. Vinukonda Rock art site is located in this district 
 1. Anakapalle 
 2. Bapatla 
 3. Chittoor 
 4. Palnadu 
 $qT¿=+&� s�Ü ºçÔá ¿£Þ² kÍ�esÁ+ � �ý²¢ýË �+~. 

 1. nq¿±|�*¢ 

 2. u²|�³¢ 

 3. ºÔáÖïsÁT 

 4. |�ý²�&�T 

 
144. “Neetisaramu” a Sanskrit book was written by 
 1. Rudradeva 
 2. Ganapathideva 
 3. Mahadeva 
 4. Rudramadevi  
 »»úÜ kÍsÁeTTµµ nHû d�+d�Ø�Ôá ç>·+<̧��� s�d¾q~ 

 1. sÁTç<�<ûeÚ&�T 

 2. >·D|�Ü<ûeÚ&�T 

 3. eTV�ä<ûeÚ&�T 

 4. sÁTç<�eT<û$ 

   

  



145. “Intellectual value, cultural value, moral value, vocational 
value” are consider as  

  1. Goals  

2. Objectives  
3. Aims  

 4. Specifications  
 u�~Æ¿£ $\Te, kÍ+d�Ø�Ü¿£ $\Te, HîÕÜ¿£ $\Te, e�Üï $\Te e+{ì$ 

 1. >·eÖ«\T 

 2. \¿�±«\T 

 3. �<ûÆXæ«\T 

 4. d�ÎwÓ¼¿£sÁD²\T  

 
146. “Textbook is a tool designed for classroom use with common 

teaching methods by the people who have expertise in their 
respective fields” - said by    

  1. Webster   

2. Bacon 
3. Leng 

 4. Ryborn  
 »»ÔásÁ>·Ü >·~ �|�jîÖ>·+ ¿Ãd�+ �jáÖ sÁ+>±\ýË ç|�Üuó� eÚq�  

e«Å£�ï\#û kÍ<ó�sÁD uË<ó�H� ç|�ç¿ìjáT\ÔÃ sÁÖbõ+~+ºq kÍ<ó�qyûT  

bÍsÄÁ«|�Úd�ï¿£+µµ n� ç|�ÜbÍ~+ºq~ 

 1. yîuÙd�¼sY 

 2. uñ¿±H� 

 3. ýñ+>́ 

 4. ÂsÕ�sY� 
 

  



147. The assessment conducted during the teaching learning 
process is  

  1. Formative assessment  

2. Summative assessment 
3. Diagnostic assessment 

 4. Comprehensive assessment  
 uË<ó�H�uó�«d�q ç|�ç¿ìjáT ÈsÁT>·TÔáTq�|�ð&�T �sÁÇV¾²+#û eTÖý²«+¿£q+ 

 1. �s��D²Ôá�¿£ eTÖý²«+¿£q+ 

 2. d�+ç>·V�²D²Ôá�¿£ eTÖý²«+¿£q+ 

 3. ýË|� �s�ÆsÁD eTÖý²«+¿£q+ 

 4. d�eTç>· eTÖý²«+¿£q+ 

 
148. The problem solving method was developed as a teaching 

method due to his efforts 
 1. Rousseau 
 2. John Dewey 
 3. Kilpatrick 
 4. Billard 

 d�eTkÍ« |�]cÍØsÁ |�<�ÆÜ M] ¿£�w¾ e\q ÿ¿£ uË<ó�H� |�<�ÆÜ>± n_óe�~Æ

#î+~+~. 

 1. sÁÖkþ 

 2. C²H� &�Ö«sTÖ 

 3. ¿ìýÙbÍç{ì¿ù 

 4. _ý²¢sY¦ 

  
  



149. The English word “History” is derived from the word 
“Historia”, Historia is a term from this language   

 1. Hindi 
 2. Greek 
 3. French 
 4. German 

 »»V¾²d�¼̄ µµ nHû �+>·¢ |�<�+ »»V¾²kþ¼]jáÖµµ nHû |�<�+ qT+º eºÌ+~.  

V¾²kþ¼]jáÖ nHû~ � uó²cÍ |�<�+ 

 1. V¾²+B 

 2. ç^Å£� 

 3. ç�|�+º 

 4. ÈsÁ�H� 

 
150. Social Science position paper - 2011 was prepared on the  

basis of 
 1. National curriculum frame work - 2005 
 2. Right of children to Free and Compulsory Education  

Act - 2009 
 3. New Education Policy - 1986 
 4. Andhra Pradesh Curriculum Frame work - 2010 
 kÍ+|�¾T¿£ Xæçd�ï �<ó�sÁ |�çÔá+ ` 2011 B� �<ó�sÁ+>± sÁÖbõ+~+#�sÁT 

 1. C²rjáT $<�« ç|�D²[¿± #áç³+ ` 2005 

 2. |¾\¢\ �ºÔá, �sÁÒÛ+<ó� $<�« V�²Å£�Ø #á³¼+ ` 2009 

 3. C²rjáT qÖÔáq $<�« $<ó�q+ ` 1986 

 4. �+ç<ó�ç|�<ûXÙ $<�« ç|�D²[¿± |�çÔá+ ` 2010 


